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GENERAL ORGANIC CHEMISTRY

1. How many 2° Hydrogen atoms are present in the given following

compound ?

Cl

A2

B.5


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UtJ5yIOiON54

C.7

D.8

Answer: C

o Watch Video Solution

2. Identify which functional group is Not present in the given following

compound ?

A. Ketone

B. Ester


https://dl.doubtnut.com/l/_UtJ5yIOiON54
https://dl.doubtnut.com/l/_h4lFwxygOtmG

C. Amide

D. Ether

Answer: D

o Watch Video Solution

3. Correct energy profile for amine inversion and hybridization of

nitrogen in transition state is:
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https://dl.doubtnut.com/l/_h4lFwxygOtmG
https://dl.doubtnut.com/l/_vRy4EHxyzqpH

C.
-
(A) B
L —
D.
Answer: D

° Watch Video Solution

{im)

Correct order of the heats of combustion of above compounds is:


https://dl.doubtnut.com/l/_vRy4EHxyzqpH
https://dl.doubtnut.com/l/_rsqjY30cjnkl

A (i) > (i) > (ii3)
B. (¢) > (di3) > (49)
C. (1) > () > (313)

D. (i) > (iii) > (4)

Answer: A

o Watch Video Solution

5. Which of the following is not a resonance structure of the other?


https://dl.doubtnut.com/l/_rsqjY30cjnkl
https://dl.doubtnut.com/l/_zOmYnhFVVOfG

Answer: D

° Watch Video Solution

6. Rank the hydrogen atoms (H,, H,, H.) present in the following

molecule in decreasing order of their acidic strength.


https://dl.doubtnut.com/l/_zOmYnhFVVOfG
https://dl.doubtnut.com/l/_lrFbwNmSP2rI

CH,

Aa>b>c

B.b>a>c

Cb>c>a

D.c>b>a

Answer: D

° Watch Video Solution

o

[
7.CH; - C - O —- CH;3,
a b

The correct relation between the bond lengths a and b is:


https://dl.doubtnut.com/l/_lrFbwNmSP2rI
https://dl.doubtnut.com/l/_vObeGt5DRyL7

Aa=25>

B.b >a

Cb<a

D. Impossible to predict

Answer: B

o Watch Video Solution

8. The number of sp? — sp® sigma bonds in the compound given below is

Al


https://dl.doubtnut.com/l/_vObeGt5DRyL7
https://dl.doubtnut.com/l/_ne68NdLCtauQ

B.3

C.4

D.5

Answer: C

° Watch Video Solution

9. The total number of lone pair of electrons in the given molecule is :
0 N—H

A2
B.3
C.4

D.5


https://dl.doubtnut.com/l/_ne68NdLCtauQ
https://dl.doubtnut.com/l/_J4BTRDOSgNKM

Answer: B

° Watch Video Solution

10. Which of the following rings is highly strained ?

8

O

0O

T lactone

B-lactone


https://dl.doubtnut.com/l/_J4BTRDOSgNKM
https://dl.doubtnut.com/l/_qdvaJ7nBWxOA

O

0

N -H
|
&-lactam
D.
Answer: C

° Watch Video Solution

11. The functional groups in cortisone are:

HOH,C
CHy Y— OCH,

A. ether, alkene, alcohol

B. alcohol, ketone, alkene, ether

C. alcohol, ketone, amine


https://dl.doubtnut.com/l/_qdvaJ7nBWxOA
https://dl.doubtnut.com/l/_TYIBiirVSLIi

D. ether, amine, ketone

Answer: B

° Watch Video Solution

12. Select the acid with the highest Ka (i.e., lowest pK,, )

X

H-C
A. ? OH
Clzior i
cl
B. H
/O’iﬂli
1
C.
OH

Nog


https://dl.doubtnut.com/l/_TYIBiirVSLIi
https://dl.doubtnut.com/l/_nBxbpfVGx7JQ

Answer: B

° Watch Video Solution

13. Most stable carbocation among the following is :

CHy

D. ®*CH;,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nBxbpfVGx7JQ
https://dl.doubtnut.com/l/_Fve2IpEVOQYd

14. Arrange the following in increasing order of their pK,, values.

o o

| [
(X)C’H3—ﬁ—O—H(y)C’H3—C—O—H(z)CH;;—OH

o

Ay<xz <z
Br<y<z
Cy<z<ew

Dr<z<y

Answer: B

° Watch Video Solution

15. Which is the major product of the following reaction ?

M HCL

ﬁ Lo Product

1 Fiase®


https://dl.doubtnut.com/l/_Aaz5lynndVhU
https://dl.doubtnut.com/l/_9e3Zs58hfAOq
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D.
Answer: B

° Watch Video Solution

16. In the given pair identify most acidic compound in (A) and (B). Most

basic in (C) and (D).


https://dl.doubtnut.com/l/_9e3Zs58hfAOq
https://dl.doubtnut.com/l/_iHCnXs0gYzwQ

“Co,H ¢o,H GO,H co,H

6 ¢ O O

(18] (i) (1] (1
MNH, NH-

NI, Ny 2 .
i, CH4

R r n )] ()

AA—I,B—II,C—1,D—1II
B.A—II,B—1,C—I,D—1II
CA—IILB—II,C—1II,D—1II

DA-I,B—II,C—I,D—1

Answer: B

o Watch Video Solution

17. Several factors (steric, electronic, orbital interactions etc.) can affect
the inversion barrier of an amine. In the given pair which data is correctly

placed ?


https://dl.doubtnut.com/l/_iHCnXs0gYzwQ
https://dl.doubtnut.com/l/_tZgaVQh7t4NV

Me i-Pr
| |

N W N
A, ve” Twe S P T e

AG* = 7.9kcal /molAG™* = 0.2kcal /mol

AN - C

B. “Me “Me
AG* = 20.5kcal /molAG* = 7.0kcal /mol
C.BOTHAAND B

D. NONE

Answer: D

o Watch Video Solution

18. Select the response that correctly identifies the number of carbon

atoms of each type of hybridization in the compound given below

H,C=C=CH-CH=20

3 2
S S
NE
2 2 0
8 sp® sp® sp
"1 3 0


https://dl.doubtnut.com/l/_tZgaVQh7t4NV
https://dl.doubtnut.com/l/_hx7i0ioCOrz2

3 2
s s s
C p- Sp- Sp

‘0 3 1
3 2
D. sp~ sp~ sp
1 2 1
Answer: C

° Watch Video Solution

19. Circle represents most basic atoms in these molecule. Which of the

following is correct representation ?



https://dl.doubtnut.com/l/_hx7i0ioCOrz2
https://dl.doubtnut.com/l/_4s8vXoMMVzuk

D. All of these

Answer: D

° Watch Video Solution

20. Circle represent most acidic hydrogens in these molecules. Which of

the following is correct representation ?

CF,
A.
MeO,C .
HO @
B.


https://dl.doubtnut.com/l/_4s8vXoMMVzuk
https://dl.doubtnut.com/l/_q8KFkB5qn9GM

D. All of these

Answer: D

° Watch Video Solution

21. Arrange the following in decreasing order of their acidic strengths.

& O

H H CHy
(A ) ] i)

AA>C>B>D
B.A>D>B>C
CA>D>C>B

DD>A>C>B

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_q8KFkB5qn9GM
https://dl.doubtnut.com/l/_gyPFBBnwnaxz

A B

Cyclopropane Cyclobutane Cyclopentane
22. (0 (1) (mm)y

The correct order of heats of combustion of above compounds is :

AT >1II>1I1

B.IT > 1 > III

CIII>II>1T

D.III > 1> 1II

Answer: C

° Watch Video Solution

(A (B ()
23. . . e aa

Compare carbon-carbon bond rotation across A, B, and C


https://dl.doubtnut.com/l/_rca2zcxHWeON
https://dl.doubtnut.com/l/_QkTBekEeovPo

AAA>B>C

B.A>C>B

CB>A>C

DDB>C>A

Answer: C

o Watch Video Solution

24. Which of the following acids would have a STRONGER CONJUGATE

BASE ?
1 2
NH NH
{H:I ¥a
3 4
(C) CH4C == CH vs CH;CH == CH;
< 6

(C)CH3;C =CH vs CH3CH = CH,


https://dl.doubtnut.com/l/_QkTBekEeovPo
https://dl.doubtnut.com/l/_XRJc2LK2HeqL

A.24,6

B.1,3,5

C.235

D. 13,6

Answer: A

o Watch Video Solution

L
LB | i
"2 [y
g 14 Major
(C=C") Product
25. , Major

products of the reaction is (are):


https://dl.doubtnut.com/l/_XRJc2LK2HeqL
https://dl.doubtnut.com/l/_SCPcd3xBH09A

D. both (b)& (c)

Answer: D

° Watch Video Solution

26. Which of the following compound is most stable ?

Collip


https://dl.doubtnut.com/l/_SCPcd3xBH09A
https://dl.doubtnut.com/l/_9gvPmlR9kG8D

Coll, -

Cglys
mOﬁ?ﬁ

CoHyg

Answer: D

° Watch Video Solution

27. Which statement about the following equilibrium is true ?

0 K" +H;0 = —’—on + KYOH
15.7 qu = |8

t-butoxide pK, =

A. The equilibrium favours the products

B. t-Butoxide is the dominant anionic species in the equilibrium

C. Water is the weaker acid


https://dl.doubtnut.com/l/_9gvPmlR9kG8D
https://dl.doubtnut.com/l/_heGcpao0IOMm

D. t-Butoxide is stabilized by resonance

Answer: A

o Watch Video Solution

28. Consider the following reaction involving two acids shown below :

formic acid and HF.

Which of the following statements about this reaction are true ?
(A) Formic acid is the strongest Bronsted acid in the reaction

(B) HF is the strongest Bronsted acid in the reaction

(C) KF is the strongest Bronsted base in the reaction

(D) KOs CH is the strongest Bronsted base in the reaction

(E) The equilibrium favours the reactants

(F) The equilibrium favours the products


https://dl.doubtnut.com/l/_heGcpao0IOMm
https://dl.doubtnut.com/l/_S90TVqvDzUJp

(G) Formic acid has a weaker conjugate base

(H) HF has a weaker conjugate base

A.A,DandF

B.B,D,and H

C.A,C,andH

D.B,D,Eand H

Answer: D

° Watch Video Solution

29. Which one of the following compounds has non zero dipole moment?

N

A HO


https://dl.doubtnut.com/l/_S90TVqvDzUJp
https://dl.doubtnut.com/l/_KLhNmZigz1M4

CN

CH,Cl

CICH, ><

CICH, CH,Cl

HH@H

Answer: A

o Watch Video Solution

30. Which one of the following has the smallest heat of combustion ?

GHy

B

C{CH, )


https://dl.doubtnut.com/l/_KLhNmZigz1M4
https://dl.doubtnut.com/l/_q0uR4ywgiow6

CH,

H4C

B C({cH,y)
CH;
. C{CH,)4
i
H,C
D E |CH 3 _:- k]
Answer: C

o Watch Video Solution

31. Rank the following substances in order of decreasing heat of

combustion (maximum — minimum).

CHy

CH, CH4 O P
G/ I:CL " CHa
B, 3

2H o


https://dl.doubtnut.com/l/_q0uR4ywgiow6
https://dl.doubtnut.com/l/_TKkIugrFNeT0

Al>2>4>3

B.3>4>2>1

C2>4>1>3

D.1>3>2>14

Answer: C

° Watch Video Solution

32. Which of the following has lowest pK,, value ?

@C!l@

. ©

5 @—-CH@

©
Or1©

C.


https://dl.doubtnut.com/l/_TKkIugrFNeT0
https://dl.doubtnut.com/l/_mQmEvpOXlVFa

Answer: D

° Watch Video Solution

33. Arrange the following (w, x, y, z) in decreasing order of their boiling

Nol=Neo

LW | L) Ly LX)

points:

Aw>z>z>y

Bw>z>y>z2

Cw>z>y>zx

Dw>z>x >y


https://dl.doubtnut.com/l/_mQmEvpOXlVFa
https://dl.doubtnut.com/l/_Mk1BCQlfjVd5

Answer: D

° Watch Video Solution

34. Arrange the following in increasing order of their acidic strength.

i 0
(n () @ (1) %) OCH,
0 O 0

ATl <I<IV <II
B.II<I<IV <III
CI<III<IV <II

DI < III <I< IV

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Mk1BCQlfjVd5
https://dl.doubtnut.com/l/_0s6Zs4MSnBFs

35. How many degrees of unsaturation are there the following

compound?

A.6

B.7

D. M

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DMyzwrTy9bLN

36. The heat of hydrogenation for 3-methylbutene and 2-pentene are -30
kcal/mol and -28 kcal/mol respectively. The heats of combustion of 2-
methylbutane and pentane are - 784 kcal/mol and -782 kcal/mol
respectively. All the values are given under standard conditions. Taking
into account that combustion of both alkanes give the same products,
what is AH (in kcal/mol) for the following reaction under same

conditions ?

& TR T

D. 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qHQTU9zUjQSM

37. Which of the following o-bonds participate in hyperconjugation ?
1|._r
=g
H CH,

[ ,
i Y

Il

A.land Il
B.land IV
C.lland V

D.lll and IV

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RJHP3ciieMfj

38.

Decreasing order of acidic strength of different (-OH) groups is :

Aw>z>y>z

Bw>z>zxz>y

Cz>w>z >y

Dz>xz>w>vy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_n65RmHXc3s7k

39. Arrange the following alcohols in decreasing order of the ease of
ionization under acidic conditions.
= = == f =

l I

= T e )

Ot OH Ot

o i i

Al>III>1II
B.I > 1II>III
C.II >1III >1

D.II > 1 > III

Answer: C

o View Text Solution

40. Among the isomeric amines select the one with the lowest boiling

point.


https://dl.doubtnut.com/l/_8akpEs4AooHU
https://dl.doubtnut.com/l/_993v2C5VDKA2

A.
O
B.
T
C.
NH 2
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_993v2C5VDKA2

41. Which one of the compounds shown below, is not an isomer of the

others ?

R,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8EmLAiEKp8QQ

42. Arrange the anions (p) 5H3, (q) JVH2 ,(r) OH™ , (s) F~ ,in
decreasing order of their basic strength.

Ap>qg>r>s

Bg>p>r>s

Cr>qgq>p>s

Dr>p>q>s

Answer: A

o Watch Video Solution

43. One among the following compounds will not give effervescence with

sodium carbonate:

A.C¢H;CO.H

©f

SO,H


https://dl.doubtnut.com/l/_5KNKNPQ0bQ7k
https://dl.doubtnut.com/l/_F5kOsOTqnrD7

C.CsH;OH

D. NONE

Answer: C

° Watch Video Solution

44.The carboxylic acid which has maximum solubility in water is:

A. phthalic acid
B. succinic acid
C. malonic acid

D. salicylic acid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_F5kOsOTqnrD7
https://dl.doubtnut.com/l/_Y8wObf3QXvzt

45. Among the following compounds, the most basic compound is :

A.
M
i
B.
0
C.
N
H
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pHxRovc1vCbj

46.

Arrange the (C-H) bonds x, y and z in decreasing order of their bond
dissociation energies in homolysis.

Ay>x >z

Bz>z >y

Cz>y>zc

Dy>z>z

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pHxRovc1vCbj
https://dl.doubtnut.com/l/_XDPpONf9PcUe

47.23 g of sodium will react with methyl alcohol to give:

A. one mole of oxygen
B. 22.4dm? of hydrogen gas at NTP
C.1mole of Hy

D.11.2 L of hydrogen gas at NTP

Answer: D

o Watch Video Solution

48. Which of the following is most polar?

W


https://dl.doubtnut.com/l/_iB5eOTBUlxVm
https://dl.doubtnut.com/l/_GwJ02sfUGP72

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GwJ02sfUGP72

an; w~n.G~.

49,
The correct order of decreasing basic strengths of x,yand z is :
Az >y>z
Bx>z>y
Cy>zxz >z

Dy>z>zx

Answer: B

° Watch Video Solution

50. Which of the following is the strongest Bronsted acid ?


https://dl.doubtnut.com/l/_GsGeiwMYazmx
https://dl.doubtnut.com/l/_wg6SAmv2RHYm

NH

NH

[

H

0 (2 O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wg6SAmv2RHYm

51. Which of the following is the strongest Bronsted base ?

NH,

& — L

7N\

Z—X


https://dl.doubtnut.com/l/_wg6SAmv2RHYm
https://dl.doubtnut.com/l/_U5WzUwt5DDi1

A

Answer: D

° Watch Video Solution

52. Which of the following is /are aprotic solvents

A. DMSO

B. Crown ether

C. DMG

D. All of these

Answer: D

| o=


https://dl.doubtnut.com/l/_U5WzUwt5DDi1
https://dl.doubtnut.com/l/_eMKz7e0NblS1

l & Watch Video Solution J

53. Some pairs of acids are given below. Select the pair in which second

acid is stronger than first

A. CchOQH and CH2FCOQH

B.CH,FCOyH and CH,CICO.H

C. CHgClCOQH and CH2BT'002H

Answer: A

o Watch Video Solution

54.H - C =CaC =CbCH;,

Compare the bond lengths a and b:


https://dl.doubtnut.com/l/_eMKz7e0NblS1
https://dl.doubtnut.com/l/_NE4HTh1dfRvu
https://dl.doubtnut.com/l/_hihDmkPgWBVp

B.a >b

C.b>a

D.a > > >0

Answer: C

° Watch Video Solution

55. Which (isomeric) amine has lowest boiling point ?

A.1° amine

B.2° amine

C.3° amine

D. cannot predict

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hihDmkPgWBVp
https://dl.doubtnut.com/l/_9MhxlmoCrvCt
https://dl.doubtnut.com/l/_Ws2pfag4R89r

Cl
(.
56.

@ 25bC1y
B.

O

D. mixture of (a) and (b)

, Pwill be:

A

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Ws2pfag4R89r

57. Which of the following substances is not an isomer of 3-ethyl 2-methyl

pentane ?

PN

va

B.

. | /’-HW/.

C

D. all are isomers

Answer: B

o Watch Video Solution

58. Which of the following is an isomer of compound 1?



https://dl.doubtnut.com/l/_ChkUXpbaC6OC
https://dl.doubtnut.com/l/_O3Y3nujn1cM5

o

I
CH,CH,CHO CH,-C —CH; CH,;— CH=CH - OH
(1) (2) (3)

0
Il .
CH4CH,CHO €y —C—CHy CHy —CH = CH — OH di:’"}‘”_ml
(1 (2} (3) (]

4)

A 2
B.4
C.2and3

D. all are isomers

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_O3Y3nujn1cM5

Br

59.

Which statement is incorrect in respect of the above reaction ?
A. Product is aromatic
B. Product has high dipole moment
C. Product has less resonance energy

D. Product is soluble in polar solvent

Answer: C

° Watch Video Solution

60. Some pairs of ions are given below. In which pair, first ion is more

stable than second?


https://dl.doubtnut.com/l/_DCqw97XKIhgm
https://dl.doubtnut.com/l/_21k6GM4Vf5QT

(&) @
A CH; — CH — CH; and CH; — CH — OCHj

52 D
B. CH3 — CH2 — CH — CHg and CH2 = CH — CH2 — CH2

CH, CH,
@ O/ " Or

CH; — CH — CH; CH; — N — CH;
D. | and |
CH, - Cgy — CHj C’Hg—C’EB — CH;
Answer: B

o Watch Video Solution

61. Among the given pairs in which pair, first compound has higher boiling

point than second ?

A CH3 - CH2OCH3 and CH3 — CH — CH3
|
OH

B.CH3; — CHy — CHy — CH3 and CH3; — CHy; — CHj;

CH,—CHj;

\
CHg - CH2 - CH2 - CH2 - CH3 and CH?, — CH - CH2 —(


https://dl.doubtnut.com/l/_21k6GM4Vf5QT
https://dl.doubtnut.com/l/_T8IaW0fMYm8O

D. CH3 - CH2 - CH2 - CH3 and C.Hg - CH2 - CH2 —Cl

Answer: B

° Watch Video Solution

62. Which of the following alcohols is the least soluble in water ?

A. Ethanol

B. 1-Propanol

C. 1-Butanol

D. 1-Pentanol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_T8IaW0fMYm8O
https://dl.doubtnut.com/l/_oubHs2QdooHV

63. Which of the following alcohols is expected to have the lowest pK,

value ?

A. Ethanol
B. 1-propanol
C. 2,2, 2-trifluorethanol .

D. 2-chloroethanol

Answer: C

° Watch Video Solution

64. Which of the following alkenes is the most stable ?



https://dl.doubtnut.com/l/_eRelO0Bo9M4T
https://dl.doubtnut.com/l/_x2KqFYIcLDHI

Answer: D

o Watch Video Solution

65.Bond X is made by the overlap of which type of hybridized orbitals ?


https://dl.doubtnut.com/l/_x2KqFYIcLDHI
https://dl.doubtnut.com/l/_hiupmaQ0j1G2

A.sp and sp®
B.sp and sp’
C.sp? and sp®

D. none of these

Answer: C

o Watch Video Solution

66. Increasing order of acidic strength of given compounds is :

/@0” : OH OH Ot
m

H5CO
{an amn o

Al <I <1V <1II
B Il <I< IV <III
CI<III <1V <1II

D.I<III<II <1V


https://dl.doubtnut.com/l/_hiupmaQ0j1G2
https://dl.doubtnut.com/l/_EwzAIi6nDeiQ

Answer: A

o Watch Video Solution

OOH + NaHCO, ——— co=+@-cooua.c i
67. @_C N ! is with the

product :

A. CO,

@—cmma
B.

C. both

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EwzAIi6nDeiQ
https://dl.doubtnut.com/l/_88i3TAwbYqra

68. Rank in the order of increasing acidity.

M Qt}k{ (an ONI!; iy Q—OH

ATl <TI<II
B.I < III <1II
CIII<II<I

D.II < I < III

Answer: D

o Watch Video Solution

69. Which compound has the highest value of pk, ?

A.Cl — CH, — CH; — COOH

B.CH3; — CHy — COOH

C.CHs — CH — COOH

|
cl


https://dl.doubtnut.com/l/_yMhtMshSmASV
https://dl.doubtnut.com/l/_2PNo0Rs3hkGM

Cl

|
D.CH; — |C — COOH

Cl

Answer: B

o Watch Video Solution

70. Consider the hydrogen atoms attached to three different carbon
atoms (labeled 1,2 & 3).
Rank the attached hydrogen atoms in order from most acidic to least

acidic.

3
0”7 ™

A2>1>3

B.1>2>3


https://dl.doubtnut.com/l/_2PNo0Rs3hkGM
https://dl.doubtnut.com/l/_PB4Ui3o2G6dN

C2>3>1

D.3>2>1

Answer: A

o Watch Video Solution

71. Decreasing order of acidic strengths of following compounds is :
H
e, v () @ 6

Az >y>z
By>z >z
Cz>y>z

D.z>xz >4y

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PB4Ui3o2G6dN
https://dl.doubtnut.com/l/_aPRJhuMf6Phk

72. Among the given pairs, in which pair second compound is more acidic

than first ?

A BT‘CH2NO2 and CH30H3
o @)

[ [

X

CHy—C=0

C.
OH H
0O
CH,
D.
Answer: D

o Watch Video Solution

73. Which of the underlined atoms in the molecules shown below have sp-

hybridization ?


https://dl.doubtnut.com/l/_jo68wqAVLKqM
https://dl.doubtnut.com/l/_kZz9PLGipXjO

(u) CH,CHCHj (v) CHy,CCHCI (w) C’H;),QH;r xH-C=C—-H
(y) CH3CN (2) (CH3),C NNH,

A.xand z

B.x,yand z

C.u,wand x

D.vxandy

Answer: D

o Watch Video Solution

74. Which of the following, is the product of the reaction between
AlClg and CH300H37

(tll

CH,
. -
Cl —Ai[—()\

A cl

CH,

cl
| cH,
c—A'-0
i CH,
cl


https://dl.doubtnut.com/l/_kZz9PLGipXjO
https://dl.doubtnut.com/l/_lpkiZtbiyLuD

| CH.
a0 ( !
| CH,
Cl
C.
(J:I
cl— f}r_ CH;0CH,
cl
D.
Answer: A

o Watch Video Solution

75. Which of the following compounds contain at least one secondary

alcohol ?

t OH
) on -. oli/yl\o o />)\
w, Y, e, H 1 4
no® 4 m Ho' . />f\0||

in (I (1D (v} v

A LIV, VI
B.1,1l
cr,n,ny

D.1,II,V


https://dl.doubtnut.com/l/_lpkiZtbiyLuD
https://dl.doubtnut.com/l/_465pNdFMdNsW

Answer: D

° Watch Video Solution

76. Which of the following has the most negative heat of hydrogenation ?

A

o
(O
o
1S


https://dl.doubtnut.com/l/_465pNdFMdNsW
https://dl.doubtnut.com/l/_rXGXoGYEvwmd

Answer: A

° Watch Video Solution

77. Which of the following options is the correct order of relative

stabilities of cations I, Il and Il as written below (most stable first) ?

CH,

(1 (1)

CH3
+ | +
H,C =CH — CHy, — CH — CH3 () H3C — |C — CH,
CH;

AT >1II>1I1

B.II > III > 1

CIII>T>1II


https://dl.doubtnut.com/l/_rXGXoGYEvwmd
https://dl.doubtnut.com/l/_14NdQf0N1Wqj

D.I > 1III>1II

Answer: A

° Watch Video Solution

78. What is the decreasing order of stability (most stable — least

stable) of the following carbocations ?

A+AAA/+©

l 2 i F

A3>2>1>4>5
B.3>2>5>4>1
Clx=4>2~5>3

D3 >1~4>2=x5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_14NdQf0N1Wqj
https://dl.doubtnut.com/l/_53keBoVA0XiJ

79. the

hydrogen indicated by arrow will be easily removed as :

AHT

Answer: A


https://dl.doubtnut.com/l/_53keBoVA0XiJ
https://dl.doubtnut.com/l/_hnU35au86KBL

° Watch Video Solution

80. Rank the bond dissociation energies of the bonds indicated with the

arrows. (from smallest to largest).

H
| [e—2
CH,

H ——1
H

Al<2<3
B.3<2<1
C2<3<1

D.3<1<2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hnU35au86KBL
https://dl.doubtnut.com/l/_lgCayB7D06du

81. Rank the following compounds in order of decreasing acid strength

(most acidic — least acidic).
OH ;?H H %“
i “NO,
NO-

A2>4>1>3
B.1>3>4>2
C3>1>2>14

D.3>1>4>2

Answer: D

° Watch Video Solution

82. Rank the following compounds in order of increasing acidity (weakest

acid first).


https://dl.doubtnut.com/l/_BZOc1ja6MIpq
https://dl.doubtnut.com/l/_4IOAtZSCaxnT

a OH  yic H o\ H

A2<3<1
B.3<1<2
Cl<2<3

D.2<1<3

Answer: D

° Watch Video Solution

8. Which of the following phenols has the largest pKa value (i.e, is least

acidic) ?

B.


https://dl.doubtnut.com/l/_4IOAtZSCaxnT
https://dl.doubtnut.com/l/_y6OyqbU8Mdwv

O

D.

Answer: C

° Watch Video Solution

84. Among the given sets, which represents the resonating structures ?

+ .. .
AH-C=N-0:" and H-0—-C=N:

+ . ..
BH—-—O=CN:m and H—-0O —-C = N:
:0:

|| ..
CH-C= N O and H — C — N:

DH—O—-C=N:" andH-N=C = O:

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_y6OyqbU8Mdwv
https://dl.doubtnut.com/l/_ledecuNk9i22
https://dl.doubtnut.com/l/_4asqcyRCWTBd

85. Identify each species in the following equilibrium according to the
code:

SA = stronger acid , SB = stronger base , WA = weaker acid , WB = weaker
base.

The pK, of (CHs),NH is 36, the pK, of CH;OH is 15.2.

+
CH30H + (C’Hg)zNH < CHs — O™ +CHs — N‘H — CHj;
1 2

H
A. 1 2
WA WB
B 1 2
"WB WA
c 1 2
"SA SB
b 1 2
"SB SA
Answer: A

o Watch Video Solution

86. The hydrogen bonding is strongest in which one of the following set ?


https://dl.doubtnut.com/l/_4asqcyRCWTBd
https://dl.doubtnut.com/l/_DvnzWfxcLq2b

AF-H—- — —F

BO-H—- — — S

CS—-H-—- — - F

DDF—-H—- — -0
Answer: A

° Watch Video Solution

87. Intermolecular hydrogenbonding is strongest in

A. methylamine

B. phenol

C. formaldehyde

D. methanol

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DvnzWfxcLq2b
https://dl.doubtnut.com/l/_THuZ9zlBP7Im

O
P e S OOO

[H
5H
A Ol .
gg. ”

Identify most acidic hydrogen in given compound.

D.d

Answer: A

° Watch Video Solution

89. Which of the following compounds would you expect to be strongest

carbon acid ?


https://dl.doubtnut.com/l/_THuZ9zlBP7Im
https://dl.doubtnut.com/l/_6fL0Sl68UKCC
https://dl.doubtnut.com/l/_G5kmdjRjlTsI

C. CHQ(COQEt)z

D. CH3COCH>;COOC>Hs5

Answer: D

° Watch Video Solution

90. 5-Bromo-2-cyclopropyl cyclohex-2-enol have correct structure is:

Br

o g

A HO

Ot


https://dl.doubtnut.com/l/_G5kmdjRjlTsI
https://dl.doubtnut.com/l/_YQfDWMQh27tG

_OH

Br~
C.
~ H-I"
S,
. OH
Answer: B

o Watch Video Solution

91. Rearrange the following in the increasing order of acidic strength.

(i) benzoic acid (ii) p-methoxybenzoic acid (iii) o -methyoxybenzoic acid

A <t < it

B.uiz <1 <11

Car <1<t

D.191 < i1 < ¢


https://dl.doubtnut.com/l/_YQfDWMQh27tG
https://dl.doubtnut.com/l/_HoKDkOJLM2ZK

Answer: C

° Watch Video Solution

92. In the following acid-base reaction, in which can backward reaction if

favoured?

B0 + @—OH ==
A.

B.KH + EtOH <

Me,CO” + Hy0 ===

0 e

N [

Answer: D

° Watch Video Solution

93. Which compound posses highest dipole moment ?


https://dl.doubtnut.com/l/_HoKDkOJLM2ZK
https://dl.doubtnut.com/l/_iKvLPSioN5TC
https://dl.doubtnut.com/l/_iCif31JvO4MV

A. naphthalene

B. phenanthrene

C. anthracene

D. azulene

Answer: D

o Watch Video Solution

H
H, L N
ut‘l”r O e N O ! O
{E, ]
94,

(E = activation energy)

Relation between activation energies of above reactions is :
A By > E; > Ej
B.Es > E1 > F»
C.E3s > By, > Fy

D.E; > E> > Ej


https://dl.doubtnut.com/l/_iCif31JvO4MV
https://dl.doubtnut.com/l/_i0omNUJyaAuZ

Answer: D

° Watch Video Solution

95. Rank the following solvents in decreasing order of ability to dissolve

given compound.

Solvent

Et,0

o |[— QIO
EtOH Solute

A Et,O > H,O > EtOH

B. H,O > EtOH > Et,O

C. H,O > Et,0O > EtOH

D.Et,O > EtOH > H,0

Answer: D

[ o S |


https://dl.doubtnut.com/l/_i0omNUJyaAuZ
https://dl.doubtnut.com/l/_1RlQb4lEhFBB

[ @ Watch Video Solution

Me,N: :NMe,

1. &-Bis (dimethylamno)
naphthalene is after referred

30 as (Proton sponge )
96.

Its basic strength is 10" more than 1-dimethyl amino naphthalene.
Reason for high basic strength is :

A.resonance

B. steric inhibition of resonance

C. ortho effect

D. hyperconjugation

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1RlQb4lEhFBB
https://dl.doubtnut.com/l/_8RztSmvwxadx

97. In the given pair of compounds, in which pair second compound has

higher boiling point than first compound ?

N D—Oliﬂmii:?
O and
) :>: anc >—_—

CHO —-CH; — CHy — OH and CH3 — CHy, — CHy — OH

CH,4

ey =

D.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8RztSmvwxadx
https://dl.doubtnut.com/l/_Zjl5FTeQChDG

SN N
Me Me
Me Ml
HEJ;.P NO,
(A, (B )
98. Dipole

moments of given compound will be :

A.(A) = 6.87D, (B) =4.11D

B.(A)=411D,(B)=6.87D

C.(A)=411D,(B)=41D

D.(A)=6.87D, (B)=6.87 D

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OlctTELFq0dM

99. Order of decreasing basic strengths of halides is :

AF >Cl” >1" > Br~

B.F~ >Cl” >Br  >1"

CI >Br >CI >F"~

D.I- >Cl” >Br > F~

Answer:

o Watch Video Solution

100. Among the xylenes, which is thermodynamically most stable ?


https://dl.doubtnut.com/l/_AViIJHdrd2F2
https://dl.doubtnut.com/l/_ELVRfg9Ge7M8

D. All are equally stable

Answer:

o Watch Video Solution

101. Heat of combustion of two isomer x and y are 17 kJ/mol and 12 kJ/mol

respectively. From this information it may be concluded that :

A.isomer x is 5 kJ/mol more stable

B.isomer y is 5 kJ/mol less stable

C.isomer y has 5 kJ/mol more potential energy

D. isomer x is 5 kJ/mol less stable

Answer: D

| o |


https://dl.doubtnut.com/l/_ELVRfg9Ge7M8
https://dl.doubtnut.com/l/_nEfwouv0nNvG

I & Watch Video Solution ]

102. Rank the following substances in decreasing order of heat of

combustion (most exothermic — least exothermic)

/\/\/\/\/I\/>\(

LA (B} (Cy

AAB>A>C
B.A>B>C
cC>A>B

D.C>B > A

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nEfwouv0nNvG
https://dl.doubtnut.com/l/_HCkW34B2JMxW

T e X

103.

Choose the statement that best describes given compounds.
A. 1,3, 4 represent same compound
B.1and 3 are isomer of 2 and 4
C.1,4 are isomer of 2 and 3

D. All the structure represent the same compound

Answer: A

o Watch Video Solution

104. Decreasing order of acid strengths is :

©®
Ph — OH, Ph—-CH,— OH, Ph—CO.H, Ph—CH,— NH;,
(A4) (B) (©) (D)

AB>A>C>D


https://dl.doubtnut.com/l/_UaqraO6ZBHCf
https://dl.doubtnut.com/l/_StHnlkr2Rj26

B.C>A>B>D

cC>A>D>B

D.C>B>A>D

Answer: C

o Watch Video Solution

105. Rank the following in decreasing order of basic strength is :
(A\CH; —CHy, —C=C" (B)CH3; —CHy, — S~
(C)CH; — CH, — CO, (D)CH; — CHy; — O~
AB>A>D>C
BB.D>A>B>C
CA>D>B>C

DA>D >C > B

Answer: C

[ -


https://dl.doubtnut.com/l/_StHnlkr2Rj26
https://dl.doubtnut.com/l/_sBP2opWFrY52

| @J Watch Video Solution

106. Among the given compound choose the two that yield same

carbocation on ionization.

S0

W ®) © )

A AC
B.B,D
C.AB

D.B,C

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sBP2opWFrY52
https://dl.doubtnut.com/l/_yNN9Abi6lb2L

Oxalic acid pK;
107. Malonic acid pK,
Heptanedioic acid pKj

where pK;, pKs, pK3 are first ionization constants. Correct order is :

A.pK; > pKy > pK;
B.pK; < pKsy < pKj3
CpK3 > pK2 = qu

D.pK3 > pK; > pK,

Answer: B

o Watch Video Solution

108. Which of the following is/are correct regarding acidic strength.


https://dl.doubtnut.com/l/_cSFF3HTDMXiT
https://dl.doubtnut.com/l/_oBiwgYKFAfDt

C.
NH, 6 NH,
% CC(:I)Ph
D.
Answer: C

° Watch Video Solution

109. Dipole moment of which ketone is maximum ?

0



https://dl.doubtnut.com/l/_oBiwgYKFAfDt
https://dl.doubtnut.com/l/_ZHekDPcxCTd4

0

Answer: C

° Watch Video Solution

110. Correct order of basic strengths of given amines is :

A MesNH > MeNH; > MesN > NH; (Protic solvent)
2° 1° 3°

B. EtoNH > EtsH > EtNHy > N Hj (Protic solvent)
2° 3° 1°

C.MesN > MesNH > Me — NHy > NH; (Gas phase)

D. All are correct


https://dl.doubtnut.com/l/_ZHekDPcxCTd4
https://dl.doubtnut.com/l/_ysYyjtH88X0e

Answer: D

o Watch Video Solution

111. Order of basic

Ph — NH,, Ph — NH — Me, Ph — N — Me
(4) (B) |

NH,

(C)

CH,

AA>B>C>D

B.B>A>C>D

strength


https://dl.doubtnut.com/l/_ysYyjtH88X0e
https://dl.doubtnut.com/l/_cPC4n0D8M9Dt

cC.C>B>A>D

DLC>B>D> A

Answer: C

° Watch Video Solution

112. All carbon-carbon bond length is same in molecule

A CH; — CH = CH,
B.CH; — CH = CH — CHj

C.CH;s — |C = ‘C — CH;
CHs  CHs

D.CHy; = CH>

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cPC4n0D8M9Dt
https://dl.doubtnut.com/l/_LXvngSLFCoyL

113. Which has maximum dipole moment ?

A.

B.

C.

D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gQtQgMI5KkdK

14.(i) ET3N

Compare the basic strengths of compounds given:

A (i) > (i) > (4id)
B. (4i) > (3) > (4i7)
C. (it) > (i3) > (¢)

D. (idi) > (id) > (i)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gQtQgMI5KkdK
https://dl.doubtnut.com/l/_0J8J1TDiglog

115. For the following two reactions, which statement is true ?

RN

prosdicts

A. Reaction Ais faster and less exergonic than B

B. Reaction B is faster and more exergonic than A

C. Reaction A is faster and less endergonic than B

D. Reaction B is faster and more endergonic than A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oV5XOSouk2I6

d” |
116. m.'l-

Identify the site, where attack of H * is most favourable.

D.d

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2jRdRsPw8ZXG

117. Rank the following alkenes on order of increasing .

QO 200 +CO

Al<2<3
B.1<3<2
C2<1<3

D.2<3<«1

Answer: D

o Watch Video Solution

118. Which of the following cyclic amine has lowest AG* for inversion ?

;N CH,-Me

N - n-Bu

S~
L~


https://dl.doubtnut.com/l/_xF3chALhcSz6
https://dl.doubtnut.com/l/_M2gOsUlNwa6V

DH -~ t-Bu

C.

N - Ph

Answer: C

° Watch Video Solution

119. Rank in the order of increasing acidic strength:

CO-Et
EcO,C CO, k1 CO,Ex 0
CO,Et
(A) (B) (<)

AA<B<C

B.A<C<B

CB<A<C

DDB<(C<A


https://dl.doubtnut.com/l/_M2gOsUlNwa6V
https://dl.doubtnut.com/l/_xPC8DaCUkmbq

Answer: C

° Watch Video Solution

120. Which one of the following dienes would you expect to be the most

stable ?

A

O
0
0
e


https://dl.doubtnut.com/l/_xPC8DaCUkmbq
https://dl.doubtnut.com/l/_yE1DqXaTZpMX

Answer: C

° Watch Video Solution

121. Which metal catalyzed reaction would release the maximum amount

of heat per CH, unit ?

A. cyclopropane + Hy; — propane

B. cyclobutane + Hy — butane

C.cyclopentane + Hy — pentane

D. cyclohexane + H; — hexane

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yE1DqXaTZpMX
https://dl.doubtnut.com/l/_h9lob0oeeIVC

0 0 0
m-@e r.mb -CJ@
@
122. o, .

Compare basic strengths of the above compounds:

AAA>B>C
B.B>A>C
c.C>A>B

D.C>B> A

Answer: C

° Watch Video Solution

123. On reaction with acid, 4-pyrone gives a very stable cationic product.

Which of the following structures shows the protonation site in that


https://dl.doubtnut.com/l/_CzCYh4Qxvr17
https://dl.doubtnut.com/l/_kyzxueHfisif

product ?

4-Pyrone


https://dl.doubtnut.com/l/_kyzxueHfisif

H
#

-8

Answer: C

o Watch Video Solution

124. Which of the following is the most stabilized carbocation ?


https://dl.doubtnut.com/l/_kyzxueHfisif
https://dl.doubtnut.com/l/_z5tcfOJkKTjf

O

Answer: D

° Watch Video Solution

125. Which carbocation is the most stable ?

~ A
“/‘ﬁ:\’“

A


https://dl.doubtnut.com/l/_z5tcfOJkKTjf
https://dl.doubtnut.com/l/_0I8zYZtuBKSY

B.
’/4. - 1-‘
S s
"\J\r"{%*”l&“
D.
Answer: B

o Watch Video Solution

126. Consider a positively charged CoH3 species in which the positively
charged carbon is sp - hybridized, the uncharged carbon is sp? -
hybridized and an empty p-orbital is perpendicular to the i system. What

it the best description of this cation ?

A. vinyl
B. allenyl

C. alkyl

D. allyl


https://dl.doubtnut.com/l/_0I8zYZtuBKSY
https://dl.doubtnut.com/l/_9IQFYcx5VgWV

Answer: A

° Watch Video Solution

127. Which of the following reactions is correct.

A.CH; - Cl+ CH3-CH, - CHy + CH3-CH, — Cl

B.CH; — Cl + (CH;),C — H — CHy + (CH;),~C — ClI

CH; -Cl+CHy=CH-CH3; - CHy+CHy,=CH —-CH, - C

D.CH; — Cl+ CHy, = CHy - CHy + CHy, = CHCI

Answer: D

o Watch Video Solution

128. List the following carbocations in order of decreasing stabilization

energies.


https://dl.doubtnut.com/l/_9IQFYcx5VgWV
https://dl.doubtnut.com/l/_bQqEXUyHz0vi
https://dl.doubtnut.com/l/_2ZmWnCpeKAB9

A

M Cj/ (mn U (1 O/ ) O

A LT L IV
B. 1L, IV, I, |
C. LIV, LI
D. 1, I, 1V, 1l
Answer: B

o Watch Video Solution

129. Following is the list of four halides. Select correct sequence of
decreasing order of reactivity for Spi reaction using the codes given

below

|) CGH5 - C]H — Br ||) C@H5 - CH2 — Br
CHj;
|||) CGHS - CH -1 iV)06H5 - CH2 -1
|

CH;

A. lis favoured to the right, Il is favoured to the left


https://dl.doubtnut.com/l/_2ZmWnCpeKAB9
https://dl.doubtnut.com/l/_2hwFgYspXQJq

B. | is favoured to the left, Il is favoured to the right

C.lis favoured to the right, Il is favoured to the right

D. | is favoured to the left, Il is favoured to the left

Answer: A

° Watch Video Solution

130. Rank the hydrogen atoms (H,, Hy, H.) in the following molecules

according to their acidic strengths

®®®

Aa>b>c


https://dl.doubtnut.com/l/_2hwFgYspXQJq
https://dl.doubtnut.com/l/_WY4cKbwQY9Nn

B.b>a>c¢

Cb>c>a

D.a >c>b

Answer: C

o Watch Video Solution

131. In which of the following reactions, backward reaction is favoured ?

H-C=H+Li+ CH,CH; < H-C=C,°Li" + H;C — Ci

+ &)
CH3CH2SH2 + CchHon = CH3CHQSH + CH30H2|O — H

H

N, oH NH, Ol
D “"@'@"_“@’@


https://dl.doubtnut.com/l/_WY4cKbwQY9Nn
https://dl.doubtnut.com/l/_m3ubzSxEkLW1

Answer: D

o Watch Video Solution

132. Which carbocation is the most stable ?

A.
B.
Co-
C.
j #
D.
Answer: C



https://dl.doubtnut.com/l/_m3ubzSxEkLW1
https://dl.doubtnut.com/l/_bcddyUNCJu64

| ¥ vvatch video sSolution J

133. Taking into account of hybridization and resonance effects, rank the

following bonds in order of decreasing bond length.

{} (1)

{"}_“j_g,\l A

(1)

Al >1II=1III
B.II > IIT > 1
C.I>1III>1II

D.II =111 =1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bcddyUNCJu64
https://dl.doubtnut.com/l/_c6Cp1mOXx1R0

134. Which one among the following carbocations has the longest half-

life ?

CAS

N
OO

+
D.CH; — |c — CH,

CHs

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_c6Cp1mOXx1R0
https://dl.doubtnut.com/l/_RGh7cjrsOngv

135. Rank the following alkenes in order of decreasing heats of

hydrogenation (largest first)
P \/\/ -V /=N

1

]

4

A2>3>4>1
B.2>4>3>1
Cl>3>4>2

D.1>4>3>2

Answer: D

° Watch Video Solution

136. Which of the following reactions is most exothermic ?

A >+c12 "'.;>—c:+|-|c:|
B.>+ Br, ""H>—Bt + HBr



https://dl.doubtnut.com/l/_3tAwPwsSnxhR
https://dl.doubtnut.com/l/_Oh8KMLMl6pw0

Answer: C

° Watch Video Solution

137. Which energy diagram best represents the given reaction ?

CH,4
/.—/ by
H4C = HyC ! ',;:'3_|3
. 1
E
A.
[N
E L1
J \



https://dl.doubtnut.com/l/_Oh8KMLMl6pw0
https://dl.doubtnut.com/l/_n9HSaR19TqTR

Answer: D

o Watch Video Solution

138. Which one of the following is most stable?

H


https://dl.doubtnut.com/l/_n9HSaR19TqTR
https://dl.doubtnut.com/l/_0sqdyOb2XQvJ

H PBr
H
H
B. IHH:
T
H
H
+
. NH;
Br
H H
H
H i
Answer: C

° Watch Video Solution

139. Which of the following is the strongest acid ?


https://dl.doubtnut.com/l/_0sqdyOb2XQvJ
https://dl.doubtnut.com/l/_AdYzdlyP7IbX

H H
C
C.
I!\:‘/H
U
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AdYzdlyP7IbX

140. Compare relative stability of the following resonating structure.

d /\H/ﬁ\
(i} (i) {11} a
|
M N

A (i) > (i) > (4id)
B. (4i) > (3) > (4i7)
C. (4) > (4i) > (44)

D. (i3) > (iid) > (4)

Answer: A

o Watch Video Solution

141. Compare relative stability of the following resonating structure.

(o]

_ =
(p) = CH,4 (q) & (r)

I I ﬂ


https://dl.doubtnut.com/l/_rmGkdpYsy12o
https://dl.doubtnut.com/l/_Lm8Bvc7IY2aZ

Ap>qg>r

B.g>p>r

Cg>r>p

D.p>r>gq

Answer: D

° Watch Video Solution

142. Which of the following hydrocarbons is the most reactive towards

addition of HyS04?


https://dl.doubtnut.com/l/_Lm8Bvc7IY2aZ
https://dl.doubtnut.com/l/_mH6kNJXYBDp9

Answer: B

° Watch Video Solution

143. Which of the following has lowest bond angle?

o


https://dl.doubtnut.com/l/_mH6kNJXYBDp9
https://dl.doubtnut.com/l/_giancteKyUcd

Answer: C

° Watch Video Solution

144. Use the following data to answer the question below.

O -—“J.—r O (AH = —28.6kcal mol™)
excess tlj
o (AH = -1162keal mol 1)

. Anthracene

Calculate the resonance energy of anthracene:

A. 84 kcal/mol
B. 100 kcal/mol

C. 110 kcal/mol


https://dl.doubtnut.com/l/_giancteKyUcd
https://dl.doubtnut.com/l/_jZiUszcDdGoS

D. 116 kcal/mol

Answer: A

° Watch Video Solution

145. How many double bond equivalents does a compound of molecular

formula CgH150¢ possess?

A.O

B.1

C.2

D.3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jZiUszcDdGoS
https://dl.doubtnut.com/l/_KtiAknEFtVNq

146. How many double bond equivalents does amoxycillin (shown below)

possess ?

NHy H

0
HO 0

amoxycillin CO,H

A5
B.6
C.7

D.9

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IKXE9Ji0H2BQ

147. What is the oxidation state of osmium in 7B and 7C, respectively?

’ 0
N A N #°
|+ Sel— o
) o o o/ X0
A 7B 7C

A. 6,8

B. 8,6

C.6,6

D.838

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SJuRzNJnJC8b

| Hg | ’

148 l 1 HEI

Identify most acidic hydrogen present in the above compound:

D.d

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UBppCXZBR8vV
https://dl.doubtnut.com/l/_o3IIUE03u3xf

149. Which one of the following compounds is most acidic?

C.
o]
-
@Ci{\N]
D. !
Answer: B

o Watch Video Solution

150. Acetic acid, (CH3COOH), has a pK, of 4.8. Ethanol (CH3;CH>0OH),
has a pK, of 16.0. What are the major species present, when acetic acid

and ethanol are added to water and the pH is adjusted to 7.0 ?

A.CH3COsH and CH3COsOH


https://dl.doubtnut.com/l/_o3IIUE03u3xf
https://dl.doubtnut.com/l/_4Us3K2Wt43sx

B. CH;CH,O~ and CH3;CO,0H
C. CH3CO2H and CH30H20_

D. CH3CO2_ and CH3CH20H

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4Us3K2Wt43sx

151.

The most stable canonical structure of given molecule is:


https://dl.doubtnut.com/l/_ewUndAVkTbkl



https://dl.doubtnut.com/l/_ewUndAVkTbkl

Answer: B

° Watch Video Solution

152.In the potential energy diagram to the right, the point X represents :

Electronse Reorygan ita hon

A. a transition state


https://dl.doubtnut.com/l/_ewUndAVkTbkl
https://dl.doubtnut.com/l/_SeO3GkrWfK6N

B. a reaction intermediate

C. a resonance hybrid

D. a reactant

Answer: A

° Watch Video Solution

IDI:{‘.IH |>=-:u*_. A

153. (1 ()

Which of the following orders is correct for heat of hydrogenation of
these compounds ?

Al >IIT > 11

B.IIT > II > 1

CIII>1>11

D.II > 1 > 111


https://dl.doubtnut.com/l/_SeO3GkrWfK6N
https://dl.doubtnut.com/l/_lPSN7r2XMhAy

Answer: A

° Watch Video Solution

X CH
CH,4 CHy CH,
in (1} [y
154.

Which of the following orders is correct for heat of hydrogenation of
these compounds ?

Al >1II>1II1

B.III > II > 1

CII>1III>1T

D.IIT > 1 > 1II

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lPSN7r2XMhAy
https://dl.doubtnut.com/l/_UbmOC1e5Nass
https://dl.doubtnut.com/l/_HBhk3imJNPN5

155.CH, = O + ®CH, — 0° <« °CH, — 0®
(I) (II) (III)

Which of these structures is practically not a valid canonical structure for
formaldehyde ?

Al

B. Il

c.1

D. None of these

Answer: C

o Watch Video Solution

156.

CH, = CH — CH = CH — ® NH;, ®CH, - CH =CH -° CH —¢
(1)

®CH, - CH = CH — CH = NH,
(III)

Which of these structures is not a valid canonical structure ?


https://dl.doubtnut.com/l/_HBhk3imJNPN5
https://dl.doubtnut.com/l/_fGit4Db5KCSb

Al

B. I

C. 1

D. none of these

Answer: C

o Watch Video Solution

0 08 o8

(!l —— {li LL.
l-( %k!z r H/m\gHJ E-‘i/ N
(n {n (umy

——

CH,

157.
The correct order of stability for the given canonical structures is :
Al >IIT > 11
B.IIT > 1> 11
CII>1III>1T

D.II > 1> 111


https://dl.doubtnut.com/l/_fGit4Db5KCSb
https://dl.doubtnut.com/l/_emBmgzWmgWed

Answer: B

° Watch Video Solution

0 L
Q N D"'-..,
A -7
= ,.-"
n 1§ (nn

158. —

The most stable canonical structure among the given structure is :

Al

B. I

c.

D. all are equally stable

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_emBmgzWmgWed
https://dl.doubtnut.com/l/_uOIofSf6MEAL
https://dl.doubtnut.com/l/_LRBGPsgsC63Z

ocH, OCH,
) uy  OCH,4 (u

), NN ,//\.,/f\/ N
159. !

For the given compounds the correct order of resonance energy is :
AIIT >1>11
B.II > 1 > III
CI>II>III

D.IIT > II > 1

Answer: C

o Watch Video Solution

@
-H H OH
E Aty _CH, [ @ CH
CHy - € - N{_ CHg - € - N CHy-C = N
CH;

160. m (i) (i

CH, CH,

The correct stability order of the given canonical structures is :

Al>1II>1III

B.III > 1> 1I


https://dl.doubtnut.com/l/_LRBGPsgsC63Z
https://dl.doubtnut.com/l/_CjCRPADgIZ0L

C.I>III>1II

D.II > IIT > 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CjCRPADgIZ0L

161.

In the above compound, how many sites are available for the attack of

CH;0" ?

Al

B.2


https://dl.doubtnut.com/l/_YjrhcOk85WD9

C.3

D.4

Answer: C

° Watch Video Solution

ey T

CH; 4yCH;  CH;0-CH4, CH;  CH;0-CH 45 CH-C- OFt

n (I}

162. i
Which of the following orders of rotation barrier about the C =C bond, as
indicated, is correct?

Al >1II>IIT

B.IIT > II > 1

CIII >1>11

D.IIT > 1 > 111

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_YjrhcOk85WD9
https://dl.doubtnut.com/l/_eUIWdKfrLnmo

@—cn T5CH, @—ql :EJ,CH—@
m

(In

@—CH :6C:H—©—0c1-13

163. iy
Which of the following orders of rotation barrier about the C=C bond, as
indicated, is correct?

Al >1II>1III

B.IIT > 1II > 1

CIII >1>11

D.II > 1> III

Answer: A

° Watch Video Solution

164. Which of the following compound is not resonance stabilized ?


https://dl.doubtnut.com/l/_eUIWdKfrLnmo
https://dl.doubtnut.com/l/_q3zFXs3kRHPM
https://dl.doubtnut.com/l/_81Mf2w0wCSdW

A

ax
L
Q.
fee

Answer: C

° Watch Video Solution

165. Homologous compound have same:

A. General formula


https://dl.doubtnut.com/l/_81Mf2w0wCSdW
https://dl.doubtnut.com/l/_4JQkxPxO3vZU

B. Emperical formula

C. Structural formula

D. Molecular formula

Answer: A

° Watch Video Solution

166. Most acidic is:

IS
3


https://dl.doubtnut.com/l/_4JQkxPxO3vZU
https://dl.doubtnut.com/l/_5S8KzRFBqWw2

OH

h’{}l
C.
H
NO,
D.
Answer: D

° Watch Video Solution

167. Which of the following substituents will decrease the acidic strength

of phenol?

A.—NO,

B.—CN


https://dl.doubtnut.com/l/_5S8KzRFBqWw2
https://dl.doubtnut.com/l/_u4i5IezCpSPb

C.— CHjy

D.—-CHO

Answer: C

° Watch Video Solution

168. Which of the following structures possesses a cross-conjugated

system?

A.CH, = CH-CH = CH- CH,

B.CH,=CH- C = CH,
|
CH->CH3

C.CH; =CH —-CH —-CH = CH;

|
CH=CH>

D.CHy, = CH — C = CH,

|
CH=CH,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u4i5IezCpSPb
https://dl.doubtnut.com/l/_SXbVLePWnQRk

169. Examine the following resonating structures of formic acid for their
individual stability and then answer the question given below.

1o} O- (o o+

| | — | |
H-C-OH+<+H-C=0-H+< H-C"-OH«+< H-C -0

I II 11 v
Which of the following arrangements gives the correct order of

decreasing stability of the above-mentioned resonance contributors?

AIl>1>1III>1V
B.I>1II>III>1V
CIV >III >1>1I

D.IV > III > 1 > 1I1

Answer: B

o Watch Video Solution

170. Which of the following is not resonating structure of each other?

ACHy; — N=C=Sand CH3;-S—-C=N


https://dl.doubtnut.com/l/_1egVp8WA1rkg
https://dl.doubtnut.com/l/_vEO56OrL0Rmw

+ +

o O~

| | q
C.CH;—C —-OHand CH; — C =0 — H

+
D.CH,=CH - C=N and CH, - CH =C = N~

Answer: A

° Watch Video Solution

171. In the molecule CH3C = CCH = CH,, the maximum number of

carbon atoms arranged linearly is

A2
B.3
C.4

D.5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vEO56OrL0Rmw
https://dl.doubtnut.com/l/_tfOW2g8NKl88

172. The stability order of the following carbocations is:
! i I IV
ALl > 1V > III > 1
B.IV > II>1III >1

CII>III>1>1V

D.I > III > 1II > 1V

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tfOW2g8NKl88
https://dl.doubtnut.com/l/_mG6c3ee5P2iP

173. Total number of oc-hydrogen in given compound is:

.
©“

A4
B.5
C.6

D.7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gz8gm301rYpr

174. In which pair second ion is more stable than first?

VYV 80 60 oo™

{n iii}

A. (i) and (ii)
B. (ii) and (iii)
C. (ii) and (iv)

D. (iii) and (iv)

Answer: B

o Watch Video Solution

175. Which one is the most stable cation in the following ?

H


https://dl.doubtnut.com/l/_oYSzizllU3BC
https://dl.doubtnut.com/l/_xQP1XVHiLKaJ

i
B.
3
C.
D.
Answer: B

o Watch Video Solution

176. The most reactive amine towards dilute hydrochloric acid is


https://dl.doubtnut.com/l/_xQP1XVHiLKaJ
https://dl.doubtnut.com/l/_KnLB28cuPr0Y

CH,NH,
A.

CONH,

Q

B
NH
H
C.
NH 7
D.
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KnLB28cuPr0Y
https://dl.doubtnut.com/l/_7LVKpA8UyV4W

177. How many resortance structures are there for anthracene

A.6

B.5

C.4

D.2

Answer: C

° Watch Video Solution

178. Which base is strong enough to convert (CH3);COH into (CHj),

CONain a reaction that goes to completion ?


https://dl.doubtnut.com/l/_7LVKpA8UyV4W
https://dl.doubtnut.com/l/_6ybZhnRoIFPz

A. NaNH,

B. CH3CH2N(1

C. NaOH

D. More than one of the above

Answer: D

o Watch Video Solution

179. Based upon an understanding of product stability, predict the
product formed when the following dianion reacts with one equivalent of

ﬂﬁl -
-,

oH 0F


https://dl.doubtnut.com/l/_6ybZhnRoIFPz
https://dl.doubtnut.com/l/_KlV7HdkKb2Mj

C.
D.
Answer: D

° Watch Video Solution

180. Rank the following alkyl radicals in order of increasing stability (least

<< < most).
Ph
1 2 3 4

Ad<2<1<3


https://dl.doubtnut.com/l/_KlV7HdkKb2Mj
https://dl.doubtnut.com/l/_ciXja7FPpKKQ

B3<1<2<4

Cl<3<4<?2

D.2<4<3<1

Answer: C

° Watch Video Solution

181. Among the given cations, the most stable carbonium ion is?

A. sec-butyl

B. tert-butyl

C.r-butyl

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ciXja7FPpKKQ
https://dl.doubtnut.com/l/_1BlYyTsM11qQ
https://dl.doubtnut.com/l/_BunjnQkaaVRK

182. Cyclohexadiene contains __ vinylicand ____allylic hydrogen atoms ?

A. 2 and 2 respectively

B. 4 and 4 respectively

C.2 and 4 respectively

D. 4 and 2 respectively

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BunjnQkaaVRK

183. The dipole moments of halo compounds are in the order

A.CHCI3 > CCly > CHCly > cis — CHCI = CHCI

B.cis > CHCl = CHCIl > CHCl3 > CH,Cl > CCl,

C.cis—CHCI = CHCI > CH,Cl, > CHCl3 > ccl

D.CHCIl3 > CHCly > cis — CHCIl = CHCI > CCl,

Answer: C

o Watch Video Solution

184. The pka value in H,O of picric acid, acetic acid and phenol are in the

order:

A. Picric acid 0.4, acetic acid 4.75, phenol 10.0

B. Acetic acid 0.4, picric acid 4.75, phenol 10.0

C. Picric acid 0.4 phenol 4.75, acetic acid 10.0

D. Phenol 0.4, acetic acid 4.75 picric acid 10.0


https://dl.doubtnut.com/l/_nEUEAoMnhMhc
https://dl.doubtnut.com/l/_jbPDeiXDZOhH

Answer: A

o Watch Video Solution

185. The preferred sites of protonation in the following compounds are:

ar, &
HCH,

2 H

] P

(i) (i)
A.1and 3
B.2and 4

C.1and 4

D.2and3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jbPDeiXDZOhH
https://dl.doubtnut.com/l/_dkNP9vjWuF6X
https://dl.doubtnut.com/l/_MEIb0qobnZBD

186. Among i-iii

OH
©/DH @ft}”
OH

H

(1) (1) ()

the boiling point follows the order

A (i7) < (3) < (43)

B. (i4) < (44) < (4)

C.(4) < (i) < (d4i)

D. (ii) < (iii) < (i)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MEIb0qobnZBD

187. The number of C-Csigma bonds in the compound

L)

|
A.16
B.14

C.18

D. M

Answer: B

° Watch Video Solution

188. The correct order of dipole moment for the following molecules is


https://dl.doubtnut.com/l/_RxVCNbD8MPAo
https://dl.doubtnut.com/l/_GVPP3wjAdrlV

AIV >1>1IT > 11

B.I>1IV > 1III > 1II

CIII >1>1I>1V

D.II > III > 1V > 1

Answer: B

° Watch Video Solution

189. Curved arrows are used in Organic Chemistry to show the movement
of electrons in the mechanism of a reaction. The correct product of the

following reaction is


https://dl.doubtnut.com/l/_GVPP3wjAdrlV
https://dl.doubtnut.com/l/_hRKfHUgNHFjN

B.
[ ]1/?1]\/\-'7
C.
D.
Answer: C

° Watch Video Solution

190. Which of the following will form carbocation most readily ?

g ]


https://dl.doubtnut.com/l/_hRKfHUgNHFjN
https://dl.doubtnut.com/l/_nqwE3ffckUDv

HECHO,

0
OH
a0,
C.

Cl

D.

Answer: C

° Watch Video Solution

191. Observed heat of hydrogenation for cyclohexa-1,4-diene and cyclo
hexa-1,3-diene is x & y kcal/mol respectively, calculate the resonance

energy of cyclohexa-1,3-diene :


https://dl.doubtnut.com/l/_nqwE3ffckUDv
https://dl.doubtnut.com/l/_zp2ROarKx3Fg

Answer: B

° Watch Video Solution

1.Rank in order of radical stability (1= most stable).

@ O mé (cJO/\' (ﬂO/\
O O I:] O

A.a>b>c>d

B.d>c>a>b

C.a>d>b>c

D.d>c>b>a

Answer:a-4;b-3;c-2;d-1

| g


https://dl.doubtnut.com/l/_zp2ROarKx3Fg
https://dl.doubtnut.com/l/_6jQEVG1qgIpR

| ° Watch Video Solution

2. Predict the acidity order for the three phenols shown below :

Acidity order : 1 (most) to 3 (least)
H OH OH
(@) Me. ®) MF\D/ © Mp/

Acidity order:

o Watch Video Solution

ol OH ot
O,N NO,
(A) (B) (©)
NO, NO, cH,
oH o ol
@ H,N NI
(D) (E) (F)
NO, N
NH, AN

: o”  CH,

3.

Which of the phenol derivatives above is the strongest acid ?
[] Compound A [] Compound B [1 Compound C

[] Compound D [J Compound E [] Compound F


https://dl.doubtnut.com/l/_6jQEVG1qgIpR
https://dl.doubtnut.com/l/_VcoASORACcuh
https://dl.doubtnut.com/l/_e6nACTFrbphr

° Watch Video Solution

OH

(A) (B)

OH
HyN

(n) (E}
NO,

4.

OH
NO,

NO.

ol
NI,

NH,

OH

CH,
OH

N

0" ©H,4

Which of the phenol derivatives above is the weakest acid ?

L] Compound A [J Compound B

L] Compound D (] Compound E

[J Compound C

[J Compound F

° Watch Video Solution



https://dl.doubtnut.com/l/_e6nACTFrbphr
https://dl.doubtnut.com/l/_iKDyRTeOOr1j

OH
O,N
(A) (B)
NO,
OH
HyN
(m) (E}

NO,

5.

Which of the mono-nitrophenol derivatives above is the strongest acid ?

[J Compound A

NH,

(] Compound D

OH
© Q
CH,

OH

0#’\01—11

° Watch Video Solution

O
(A) (B)

No,
OH

H,N
(m) (E}
N,

6.

Which of the carbon-substituted phenol derivatives above is the

strongest acid ?

NH,

OH
© Q
CH,

Ol

e

0" CH,

o Watch Video Solution



https://dl.doubtnut.com/l/_8M8UwCE20eZG
https://dl.doubtnut.com/l/_XixJitH9KhnD

7. The following questions refer to the twelve compounds given below.

You may enter as many as six choices in each answer box.

CH4 :
(d) H—F (e) O—i‘ CHy (3] ! ':
CHy 0 |

® go ) ‘:’]_.” (0] O:]
m_ @’NHR 9 “sc“(c;o (Tl Q\GQ

Which compound may serve only as H-bond donors ?

° Watch Video Solution

8. The following questions refer to the twelve compounds given below.

You may enter as many as six choices in each answer box.


https://dl.doubtnut.com/l/_bXgAG3ygmu4P
https://dl.doubtnut.com/l/_g3ZgJKd9UmVu

ol OB > oo

CH,

() H—F (e E>—<|—(:1|a ) D
iy 0

CH,

Eein Ted He-T
I:IJ @NH! m_ H:,C_((:IQ o Q\OQ

Which may serve both as H-bond donors and acceptors?

° Watch Video Solution

9. The following questions refer to the twelve compounds given below.

You may enter as many as six choices in each answer box.

Feviomy Wreowem hiig e
CH,

(d) H—F (e) O+Cl'a ) ( \
k=i 0

Cl,

RO -0 § G
m ©/NH2 m_ H:,C’—é;Q ® @\OQ

Which compounds will not participate in H-bonding ?

° Watch Video Solution



https://dl.doubtnut.com/l/_g3ZgJKd9UmVu
https://dl.doubtnut.com/l/_fL2AxdMWrtoD

10. Consider the following compounds and answer A and B.

"N 0 3 o7 TN Fo
i 1

Which of the compounds is the strongest Bronsted acid ?

Al
B. I
c.1

D. IV

Answer: D

° Watch Video Solution

-
(1 m |II|(\L HIIIL/\‘L‘ (V) J l
'."1"’ ._H_r 0 a ) a .IH 0
I I

n 0 .

Which of the compounds is the strongest Lewis base ?


https://dl.doubtnut.com/l/_fL2AxdMWrtoD
https://dl.doubtnut.com/l/_4JONsma1gTh8
https://dl.doubtnut.com/l/_q1vWgTY2Oceo

Al

B. I

C. 1

D.IV

Answer: A

° Watch Video Solution

12. Rank the non-bonding electrons indicated by the arrows in order of

increasing energy.

° Watch Video Solution



https://dl.doubtnut.com/l/_q1vWgTY2Oceo
https://dl.doubtnut.com/l/_UWrCZLK0umZd

13.In each of the following sections four nitrogen containing compounds

are listed. In the box under each formula write a number (1 to 4)

indicating the order of base strength.

| N—H
- v Qq — CH, O,N —@4\1}!2
: ON —H
(b)

NH,

¥

N(CHy),
© (j

(d)

O

|

x
—=

|

re
O
:

o
o )
o
]
z
=
D
I
=+
Q
|
= o]

° Watch Video Solution

14. For the two sets of acids shown below, rank their acidity most acidic to

least acidic.


https://dl.doubtnut.com/l/_UWrCZLK0umZd
https://dl.doubtnut.com/l/_Ezv9UWuytl5g
https://dl.doubtnut.com/l/_x73zoaCE0Zif

o Watch Video Solution

15. rank their acidity most acidic to least acidic.

o Watch Video Solution

16. In each of the following sections four compounds are listed. In the box

under each formula enter a number (1 to 4) indicating the order of acid


https://dl.doubtnut.com/l/_x73zoaCE0Zif
https://dl.doubtnut.com/l/_xDMbUMpkQ4jV
https://dl.doubtnut.com/l/_LBWfxjIQ7MCJ

strength (1is strongest & 4 is weakest).

CHyCHLHBICOH | CICHCHACHLCOH CH4CClL0,H

CgH{COH CgHgOCH, CgHOH

° Watch Video Solution

17. In the two questions below, you are asked to rank the relative
strengths of illustrated acids and bases. Use your knowledge of
resonance and inductive to answer this.

For the series of bases shown below, rank the set from strongest to

weakest.

s 0 g
A2 Q|G | D

H H
T | My s s i Weakes
Gl B0 A0t Oy ™
N"NoMe N N e N'J

(n) E 0] () W) Weakest



https://dl.doubtnut.com/l/_LBWfxjIQ7MCJ
https://dl.doubtnut.com/l/_c6t9a0d4KuOZ

I & Watch Video Solution ]

18. In the two questions below, you are asked to rank the relative
strengths of illustrated acids and bases. Use your knowledge of
resonance and inductive to answer this.

For the series of acids shown below, rank the set from strongest to

weakest.
HO i HO Strongest|
00 i
[{1] \O -
Me NOy CN
() - by ; (e} () Weakest
J 1 Strongest
HOLC
HOLE 2 . —
(il 2 \@\ g HO,C NO,
i O™ -
(m) ih) (e} (d) Weakest

° Watch Video Solution

19. In each of the following sections four compounds are listed.

(Decreasing order of acidic strength, 1is strongest & 4 is weakest).


https://dl.doubtnut.com/l/_c6t9a0d4KuOZ
https://dl.doubtnut.com/l/_x1ekg6CQB3q2
https://dl.doubtnut.com/l/_f8Z1as8CpUsW

CHA(COL Hs)hy | CH{COCHLO £ Hg (CH4C0),CHy, RC =CH
RCHLNO, RSO.LH, {CgHs)CH RCOCH,
CHy(C == NJ, CH,(NO,), HC =N RCHLC0,CHs
VEElE] 2
+ H.
«@) CCHZ (s:iH‘ 3

o Watch Video Solution

20. Rank in the order of increasing basic strength.

° Watch Video Solution



https://dl.doubtnut.com/l/_f8Z1as8CpUsW
https://dl.doubtnut.com/l/_vIh4mKWz0IB6

21. Compare acidic strength of the following (Write your answer in box).

o Watch Video Solution



https://dl.doubtnut.com/l/_dHsDAo9z2nKr

22. Arrange the hydrogens in increasing order of their acidic strengths.

A B M 0.
{r’ 1 v
0 b H
My g, O fig 1

o Watch Video Solution

23. The compounds whose structures are shown below, incorporate a
variety of functional groups. The question on the right ask you to identify
which compounds have a specific functional group. For each compound
that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_Tsb70ejbh5eI
https://dl.doubtnut.com/l/_567BObPlWTBs

sfsastoggioVe

CH;
H
OH OH S ¥ o
Ho
0 — CH, o H

1. limonene
O—H- HaCA O HsC CHy
&, vanillin 7. mspirin 8. geraniol 9. acetaminophenol

Which have carbon-carbon double bonds ?

o Watch Video Solution

24. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_567BObPlWTBs
https://dl.doubtnut.com/l/_cl4O7MEpSyo4

N 'i' CH,
CHy
CH,

1. limonene
H
OH OH @ o o
Ho
O —CH, o H

O—H: H;,CAO HaC CHy
&, vanillin 7. aspirin 8. garaniol 9. acotaminophenol

Which have a ketone carbonyl group ?

o Watch Video Solution

25. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_cl4O7MEpSyo4
https://dl.doubtnut.com/l/_Az7QW6Kt5pli

N 'f cu,
CHj
CH,

1. limonene
H
@flou OH S s o
Ho
0 — CH, o H

(o Py o8 HaC'kO H4C CHy
&, vanillin 7. aspirin 8, geraniol 9. acetaminophenol

Which have an aldehyde carbonyl group?

o Watch Video Solution

26. The compounds whose structures are shown below, incorporate a
variety of functional groups. The question on the right ask you to identify
which compounds have a specific functional group. For each compound
that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_Az7QW6Kt5pli
https://dl.doubtnut.com/l/_g077Ur4pMqhD

O==

IS AR L

1. limonene 2. muscone

o CHgy

H
OH O L C achZ—O
O —CHy ° H

1 l'la'(:‘k 0 H;C CHy
c. v.nlllln 7, anpirin 8. geraniol 9. acetaminophenc

Which have aromatic rings ?

o Watch Video Solution

27. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_g077Ur4pMqhD
https://dl.doubtnut.com/l/_VsuPinhhFTYd

cﬂs CH
= fi 3
CH,
CH,

1. limonene

e} CHy
OH OH Hs"iz_o
o= %
0 —CHy i H
: HsC~ 20 H;C~ ~CH,y
c munn 7. aspirin 8. geraniol 9. acetaminophanol

Which have a hydroxy group ?

o Watch Video Solution

28. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_VsuPinhhFTYd
https://dl.doubtnut.com/l/_2yFea2Y00QLp

cus CH
Ny r; 3
CHy
CH,

1. limonene
o] CHy
H
OH OH S o o
Ho
0 — CHy i H
; HyC~ =0 HyC CH,
t \rlnlllln 7. aspirin 8. geraniol 9. acetaminophenol

Which have ether groups ?

o Watch Video Solution

29. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_2yFea2Y00QLp
https://dl.doubtnut.com/l/_zw7F5hy074I8

GHB CH
S hll 3
CHy
CH,

1. limonene

o] CHy

H
d°“ e
O —CHy 0 H

ot s Hac‘ko H,C CHjy
6. vanillin 7. aspirin 8. geraniol 9. acetaminophenol

Which have an ester group?

o Watch Video Solution

30. The compounds whose structures are shown below, incorporate a
variety of functional groups. The question on the right ask you to identify
which compounds have a specific functional group. For each compound
that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_zw7F5hy074I8
https://dl.doubtnut.com/l/_gpBIqvAcWu1H

o cug CH
= r; 3
CHy
CH;

1. limonene

o CHa

H
d°" " e I
0 — CHy Q H

i i R
8. vanillin 7. aspirin 8. garaniol 9. acetaminophenol

Which have an amide group?

o Watch Video Solution

31. The compounds whose structures are shown below, incorporate a
variety of functional groups. The question on the right ask you to identify
which compounds have a specific functional group. For each compound
that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds.


https://dl.doubtnut.com/l/_gpBIqvAcWu1H
https://dl.doubtnut.com/l/_rYndoHexqlk1

Which have a carboxylic acid group ?

o Watch Video Solution

Which is the strongest acid in 1?7


https://dl.doubtnut.com/l/_rYndoHexqlk1
https://dl.doubtnut.com/l/_ddspyb4UmdYU

A A

B.B

C.C

D.D

Answer: B

° Watch Video Solution

Which is weakest acid in 1?

A A


https://dl.doubtnut.com/l/_ddspyb4UmdYU
https://dl.doubtnut.com/l/_oqMfS5HA1hX9

B.B

C.C

D.D

Answer: A

o Watch Video Solution

Which is the strongest acid in 2 ?

A A

B.B


https://dl.doubtnut.com/l/_oqMfS5HA1hX9
https://dl.doubtnut.com/l/_xhZwqa9rQE23

C.C

D.D

Answer: D

o Watch Video Solution

Which is weakest acid in 2 ?

A A

B.B

C.C


https://dl.doubtnut.com/l/_xhZwqa9rQE23
https://dl.doubtnut.com/l/_sMYrQkINLXia

D.D

Answer: B

o Watch Video Solution

36.. .. .
Which is the strongest acid in 3 ?
A A
B.B
C.C

D.D


https://dl.doubtnut.com/l/_sMYrQkINLXia
https://dl.doubtnut.com/l/_peatscbi5TdK

Answer: A

° Watch Video Solution

Which is weakest acid in 3 ?

A A

B.B

C.C

D.D


https://dl.doubtnut.com/l/_peatscbi5TdK
https://dl.doubtnut.com/l/_3XS7pZMu3gec

Answer: D

° Watch Video Solution

Which is the strongest acid in 4 ?

A A

B.B

C.C

D.D


https://dl.doubtnut.com/l/_3XS7pZMu3gec
https://dl.doubtnut.com/l/_BopY9PHA24Mi

Answer: D

° Watch Video Solution

39, .
Which is weakest acid in 4 ?
A A
B.B
C.C

D.D


https://dl.doubtnut.com/l/_BopY9PHA24Mi
https://dl.doubtnut.com/l/_FhYQslD8YfV0

Answer: A

° Watch Video Solution

40. For each of the six structural formulae (A through F), shown below,
five questions are posed. The answer to each is a number that should be

entered in the appropriate answer box.

CH,
Oemsn |
o M
HyC~ X CH,
A B c
CHs
|s’,\ N—H H,c::ncu—cicH
) 3
‘(—C=N HsC OH
HyC~" S CHy
D E F |



https://dl.doubtnut.com/l/_FhYQslD8YfV0
https://dl.doubtnut.com/l/_M317hnTeBDTt

A (i)Number ofsp?carbons: B. Number ofsp?

.......... carbons:..........
(ii) Number ofsp?carbons: Number of sp?carbons:
(iii) Number of sp carbons: Number of sp carbons:
(iv) Number of carbon - carbon Number of carbon - carbon
o — bonds:.... . o — bonds:.... .
(v)Number ofr — bonds to Number ofr — bonds to
carbon:...... carbon:......
D (i)Number ofsp®carbons: E. Number ofsp®
.......... carbons:..........
(ii)Number ofsp?carbons: Number of sp?carbons:
........... carbons:..........
(iii) Number of sp carbons: Number of sp carbons:
(iv) Number of carbon - carbon Number of carbon - carbon
o — bonds:..... o — bonds:.....
(v)Number ofr — bonds to Number ofr — bonds to
carbon:...... carbon:......

o Watch Video Solution



https://dl.doubtnut.com/l/_M317hnTeBDTt

41. Match the column (1) and (Il). (Matrix)

(a) qjh (p) cis-compound

(b) EI_I:‘::' (q) trans-compound

(e) @ r) Highest heat of combustion
(d) @ (s) lowest heat of combustion

o Watch Video Solution



https://dl.doubtnut.com/l/_LAxUatoD33cb

42. Match the column (1) and (I1).

Moalecule PKq of Conjugate acld i

(m) C!i'llu p) 08

H
®) L/'I“j (@ 533

CHy — CH,
(e) (r) 10,65

N 3
) N (s) 1095
Sis D=

° Watch Video Solution

43.The junctions centered on atoms A, B and C on the given structure.

Which junctions has the greatest deviation from planarity ?

A A


https://dl.doubtnut.com/l/_86brQJKjZ54B
https://dl.doubtnut.com/l/_yekwaFActiCi

B.B

C.C

D. Cannot be predicted

Answer: C

o Watch Video Solution

44.The junctures centred on atoms A, B and C on the given structure.

Of the carbon-carbon bonds, (shown above) numbered from 1 to 4, which

represent the most favourable site for H, addition ?

Al

B.2

C.3


https://dl.doubtnut.com/l/_yekwaFActiCi
https://dl.doubtnut.com/l/_wWKuKrQRga0O

D.4

Answer: D

o Watch Video Solution

45. Select the most stable structure in each of the following

o Watch Video Solution

46. Select the most stable structure in each of the following

WA~ A oA o~z |

° Watch Video Solution



https://dl.doubtnut.com/l/_wWKuKrQRga0O
https://dl.doubtnut.com/l/_Bed3NsbWgERL
https://dl.doubtnut.com/l/_djshxx0ZQCGi

47. Select the most stable structure in each of the following

(a) HL = CH — CH = CH-—CH, (b) HiC = € — GH — Gty — CHy

(€) HyC — CH = C = CH—CHy (d) HL — CGH— CHy —CH = CHy

A H,C=CH-CH =CH - CH;

B.H:C =C=CH - CHy, — CH;

C.H3C-CH=C=CH—-CH;

D.H,C =CH — CHy — CH = CHy

Answer: A

o Watch Video Solution

48. Match the column I and Il. (Matrix)

| —NO, | m effect
o + m effect

| —0—CH,y + I effect
—C=N ~_|(8) | -1effect

o Watch Video Solution



https://dl.doubtnut.com/l/_dSoimb99cOIF
https://dl.doubtnut.com/l/_pTbxfLH3ITC0

49. Match the column I and Il. (Matrix)

p) | Dipole (cis > trans)
__| Dipole (trans > cis)
Melting point ((trans > cis)

Boiling point (cis > trans)

° Watch Video Solution



https://dl.doubtnut.com/l/_BP3wxCxmU2cQ

50. Identify the most stable structure in each of the following:



https://dl.doubtnut.com/l/_UjSwLk0gdyi0

L ¥yvalilll VIUCV JViuLlivii )

51. Identify the most basic compound in the following.

o Watch Video Solution

52. Identify the most acidic hydrogen containing compound from the

following.


https://dl.doubtnut.com/l/_UjSwLk0gdyi0
https://dl.doubtnut.com/l/_u8HgSwpbshQk
https://dl.doubtnut.com/l/_Rc3kzpacDEVi



https://dl.doubtnut.com/l/_Rc3kzpacDEVi

(a) CH,CHOH

(a) CHy = COZH

OH

+
(b '!BH: —COH
S ©
o oM
® ©
NOy NO,

(d) CHy —CH ==CH3

53



https://dl.doubtnut.com/l/_Rc3kzpacDEVi
https://dl.doubtnut.com/l/_g8iKUI0IPXCU

I o Watch Video Solution

54. Predict the direction of the following equilibrium. Write your answer
in the box given below.
H it = Br™
) @(H +Phy CBr "‘@LH +phyen [
) (B) () (D)

(b) Q + CH, i Q + Kken, (]
H i H H

° Watch Video Solution

55. Match the column | and Il. (Matrix)

0 OH

Squaric acid

4

| (@) |NaHCO4 will react with »

\

o

0

(b)) [Na will react with ) @_ Il iy RIS
(€) [NaOH will react with ) @OH

() |NaNH, will reuct with (s) @—E -0 —H
_ Il
| Lo



https://dl.doubtnut.com/l/_g8iKUI0IPXCU
https://dl.doubtnut.com/l/_JkjsMZ2cpLD9
https://dl.doubtnut.com/l/_8u88xbMhKYQR

| @ Watch Video Solution

56. Match the column I and II.

ST Acid | o T - T
(@) cHy —con o 5.60
I:‘ﬂﬁ' (CHy )3; CHYCO 5H 4.27
;
| (@ [(cHy)y NeGiy),c0,01 183
"L& 032C —CHy —COgH 4.80

° Watch Video Solution

57. Match the column | and II.

0
h | Il 2 ]
(@ C— 0 —H + NaHCOy— ® _
0 -
; H 14 i4
(b) @—c — 0 —H + NaHCOg— (q) €Oy
L!"_*'-'.-',"__.'
0
I
(c) @—C—O—H +Na — (r) Lelo P
i 0
, " Ha
(d) @Ti—O—H+NaNH1 —s (s) 2
- O



https://dl.doubtnut.com/l/_8u88xbMhKYQR
https://dl.doubtnut.com/l/_lVpwpoKHLvtq
https://dl.doubtnut.com/l/_TSQdO33RmbvR

| ¥ vvatcn video solution

co,H
SO;H -
@@ IS 4y () R () 4 (D)
yan g
O
H — OH
I
58. e

Sum of molecular mass of gas (A+C) is :

A. 88

B.90

C.92

D. 108

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_TSQdO33RmbvR
https://dl.doubtnut.com/l/_LCyHftgVChiX

o

|| a
59.Ph—C—O—H%(A)gas

Ph—C=CH-% (B) gas

Ph— oH Y% (C) gas

R—O—HE(D)gas

Sum of molecular mass of gas (A+C) is :

° Watch Video Solution



https://dl.doubtnut.com/l/_4diNhozxTgGc

60. Match the column I and II.

(b) (q) 88.3 k/mol
(€) 0] 21 k¥/mol
(d) (s) Negative barrier

° Watch Video Solution



https://dl.doubtnut.com/l/_KiHxTYTHGgRI

61. Consider the following reaction of boron trifluoride (BF3) and

acetone:

Ho

BF; + J\ ——3 Product
CHy4 CHj

What is the critical HOMO (nucleophile) of this reaction ?

A. non-bonding orbital on boron

B. o -orbital of acetone

C. 7 -orbital of acetone

D. non-bonding electron pair orbital on oxygen

Answer: D

° Watch Video Solution

62. Consider the following reaction of boron trifluoride (BF3) and

acetone:


https://dl.doubtnut.com/l/_D517RDYFdVbR
https://dl.doubtnut.com/l/_ekQ08h8hFwGl

H O

BFH + J\ ——3 Product
CH, CH,

What is the critical LUMO (electrophile) of the reaction ?

A. p-orbital of BFj3

B. o -orbital of BF}

C.7* orbital of acetone

D. non-bonding electron pair orbital on oxygen

Answer: A

° Watch Video Solution

63. Consider the following reaction of boron trifluoride (BF3) and

acetone:

I-U+
L L

BE, + J\ ——3  Product


https://dl.doubtnut.com/l/_ekQ08h8hFwGl
https://dl.doubtnut.com/l/_KIwmkkKyxnjj

Which of the following is the correct product of this reaction ?

(Lone electron pairs are not shown explicitly).

mu,ﬂ B Fj
CH, CH,
A '
P
8~ BFa
B.
b
@y B3
J\/ s
C.
/'{-T;.\
D.
Answer: A

| ° Wiak~h \NtAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_KIwmkkKyxnjj

| & AAA-LASIEER LA YA iVIL"LLYiN]

64. Rank the following carbocations according to stability (1

stable, 5 = least stable).

LI

A

C

A AN

(4]

Put the answer in the boxes.

° Watch Video Solution

65. Consider the following reaction of boron trifluoride (BF3) and

acetone:



https://dl.doubtnut.com/l/_KIwmkkKyxnjj
https://dl.doubtnut.com/l/_pIX2NmyUBYNN
https://dl.doubtnut.com/l/_unsynn0qnfCW

L0
BE, + J\ ——3  Product
EHH C“j

what is the critical HOMO (nucleophile) of this reaction?

° Watch Video Solution

66. Among the given pairs, which is more reactive towards AgNQOs3 (or)

toward hydrolysis.


https://dl.doubtnut.com/l/_unsynn0qnfCW
https://dl.doubtnut.com/l/_gAyqyOqynMBB

1l
5

of
=

~

—|s

=
=

O

H DD O+

2
2
2
o

CH‘.?"GH2 _cHg =Cl

10,

O~ |HO-|O-

O3 1O+

° Watch Video Solution



https://dl.doubtnut.com/l/_gAyqyOqynMBB

67. Put the answer in boxes given as directed.

] £ O
O+ DO

o Watch Video Solution

68. Circle any conjugated portions of these molecules.

° Watch Video Solution



https://dl.doubtnut.com/l/_jdemofiOGl9t
https://dl.doubtnut.com/l/_MNe59penZeYU

69. Arrange in the order as directed -
The given alkenes in the order of their stability (1- most stable, 3-least

cdogiol
W -

° Watch Video Solution

70. Arrange in the order as directed -
Arrange the following in the order of their acidic strength (1-most acidic,

4-east acidic)

i E2a Bl Y s b9
|

g

° Watch Video Solution



https://dl.doubtnut.com/l/_ZonmTFywJNkG
https://dl.doubtnut.com/l/_yz5GhJylxxB0

71. Arrange in the order as directed -
Arrange the following molecules in order of expected boiling point.

(1=highest bpt , 4=lowest bpt.)

o Watch Video Solution

72. Arrange in the order as directed -
Arrange the following alkenes in order of their stability. (1= most stable, 5

= |least stable). -
& o O &

° Watch Video Solution



https://dl.doubtnut.com/l/_FdC4rqF73b8v
https://dl.doubtnut.com/l/_KfFGT6lO3xvX

73. Match the column. (Matrix)

N .

_Compounds |  Number of Benzylic hydrogen
@ @® 2 |
i x~CHy e
®) @ 3 |
: Hy : |
© @b ) 4
2 B e =
° Watch Video Solution

74.dentify (+M) mesomeric & (-M) group of following.

—
+M =M -1 +1 |

e |
©
(s |



https://dl.doubtnut.com/l/_esedW5CFlrHF
https://dl.doubtnut.com/l/_KbBW5cjA80mG

O=0
|
|

~ NH - CHj

¢."1‘=CJ
2

©-

=
o
03

O

Q

[e]

X
'

©

o
]
(=]

o

]

1
o
S

=
T
£

©-

° Watch Video Solution

75. Identify the following solvents as polar protic (PP), polar aprotic (PA),

non-polar protic (NPP) or non-polar aprotic (NPA).



https://dl.doubtnut.com/l/_KbBW5cjA80mG
https://dl.doubtnut.com/l/_RoKiu3Ibh0k7

.xg\. .j\m.: @/ ”/ﬁ\'i"

c 8]

o Watch Video Solution

76. Identify the stronger nucleophile in each pair.

% S
PONQ (7
(i) ﬁn 'ﬁa () NH3 CH,g

: =D

o Watch Video Solution

77. Among the hydrides of halogens

Which has lowest boiling point ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RoKiu3Ibh0k7
https://dl.doubtnut.com/l/_tyjlTXuy7oRq
https://dl.doubtnut.com/l/_rEjQ2hN5SmM3
https://dl.doubtnut.com/l/_knxQFB2M8T1C

78. Encircle the molecule as directed :

Which has a higher boiling point : CH; — CHy — CHy — CHy — CHj

CHs
\
or CH3 — CH2 — CH3

CH;

° Watch Video Solution

79. Encircle the molecule as directed :
Which is more miscible with
(CH3OH) : CH3 - CH2 - CH2 - CH2 - CHg

CH,; — CH, — CH, — CH, — CH, — CH,

methanol

or

° Watch Video Solution

80. Encircle the molecule as directed :

higher melting point: CH, or CH; — CH, — C'H;

° Watch Video Solution



https://dl.doubtnut.com/l/_knxQFB2M8T1C
https://dl.doubtnut.com/l/_owlu1uZAu0bx
https://dl.doubtnut.com/l/_FfWaoLpadbgt
https://dl.doubtnut.com/l/_T1KWxaKqrf8X

81. Encircle the molecule as directed :

Which has a higher boiling point : CH; — CHy — CHy — CHy — CHj;
CH;

\
or CHg — CH2 — CH3

|
CHj

° Watch Video Solution

82. Encircle the molecule as directed :

Which is more stable : BH3 or BF;

° Watch Video Solution

83. Encircle the molecule as directed :

Which is a stronger base: HO ™~ or H,O

° Watch Video Solution



https://dl.doubtnut.com/l/_T1KWxaKqrf8X
https://dl.doubtnut.com/l/_Mmfq51XZxI9C
https://dl.doubtnut.com/l/_16hOh7FJjdZY

84. Encircle the molecule as directed :

Which is a stronger base: HO ™~ or HS ~

o Watch Video Solution

85. HF is a weak acid but HCl is a strong acid because

o Watch Video Solution

86. Encircle the molecule as directed :

Which is a stronger acid : HOCI or HCI

o Watch Video Solution



https://dl.doubtnut.com/l/_aXCX9N5HQolk
https://dl.doubtnut.com/l/_uye5h0E0STxs
https://dl.doubtnut.com/l/_oolsK2qUR2I7

87. Explain why A has lower boiling point than B ?

~hed )

b.p. = 58°C b.p. = 67°C

o Watch Video Solution

88. Arrange the protons shown in the decreasing order of their

approximate bond energies.

° Watch Video Solution



https://dl.doubtnut.com/l/_r7KL1RiBoqIm
https://dl.doubtnut.com/l/_A6ccnROyzQeB

89. Consider the H-atoms in the molecule given below and answer the

following.

_— e—

Hy,

Hy H. H,

Identify the type (1°, 2° or 3° alkyl, vinyl, allyl etc.) of these H-atoms.

° Watch Video Solution

90. Consider the H-atoms in the molecule given below and answer the

following.


https://dl.doubtnut.com/l/_dU4asG8ocfww
https://dl.doubtnut.com/l/_1OT0ZJ40qtqO

Arrange them in the decreasing order of their case of abstraction (easiest

first)

o Watch Video Solution

91. Consider the molecule shown below and answer with respect to

H, — H,


https://dl.doubtnut.com/l/_1OT0ZJ40qtqO
https://dl.doubtnut.com/l/_gYx8SaAX0KXE

Hy,

E = — = .. =

Identify the type of H-atom (1°,2°, 3° alkyl, vinyl or allyl)

° Watch Video Solution

92. Consider the molecule shown below and answer with respect to

H, — H,


https://dl.doubtnut.com/l/_gYx8SaAX0KXE
https://dl.doubtnut.com/l/_7tRw7vFASVeW

Arrange them in decreasing order of their bond energy.

° Watch Video Solution

93. Rank the following carbocations in order of stability (1= most stable).

20 S S W A A
3o
o 20

e R = 5 &

o Watch Video Solution



https://dl.doubtnut.com/l/_7tRw7vFASVeW
https://dl.doubtnut.com/l/_SXlA8fapGP66
https://dl.doubtnut.com/l/_irL7wrvz2Wu8

94. Rank the following alkenes according to energy (1= lowest energy).

:

A B D

L o P e s

° Watch Video Solution



https://dl.doubtnut.com/l/_irL7wrvz2Wu8

95. Match the column:

(Double bond equivalent value)

® 11

i (r) 13

(s) 14

iy

oF [P
[ e

° Watch Video Solution

Level 2 Subjective Problems



https://dl.doubtnut.com/l/_ZU5qR5Dit53R

1. How many 2° carbon in the following ?

_
o ==

° Watch Video Solution

2. Find out the double bond equivalent (DBE) value of the given following

compound:

° Watch Video Solution



https://dl.doubtnut.com/l/_SFPB3tXwdB3e
https://dl.doubtnut.com/l/_5L4iDxctq2VL
https://dl.doubtnut.com/l/_cH2E63lnZeiz

3. Total number of functional groups present in the given following

compound :

° Watch Video Solution



https://dl.doubtnut.com/l/_cH2E63lnZeiz

4. Total number of a-hydrogen in the given following compound is:

° Watch Video Solution

5. How many carbon atom present in the parent chain in the given

following compound?


https://dl.doubtnut.com/l/_7rH315oHVC0s
https://dl.doubtnut.com/l/_7FXsn5Py300e

o Watch Video Solution

6. Total number of DBE value in :

o Watch Video Solution



https://dl.doubtnut.com/l/_7FXsn5Py300e
https://dl.doubtnut.com/l/_eLXRiQY6mdKn

7. How many isomers of CyH(O reacts with Na metal to evolve H; gas ?

(excluding stereoisomer)

o Watch Video Solution

8. Match the following columns

%

Lx]-erown-[y]-ether.
x+y:?

value of

° Watch Video Solution



https://dl.doubtnut.com/l/_ybqRDu08idlA
https://dl.doubtnut.com/l/_2e39V1ixtgCC

9. Which of the given following compound will react with NaHCO3 or

soluble in NaHCO3 ?
ﬂ—ﬁl!

OH OH
(a(j m@ m@
OH

|
0 =5 =0

(d) (¢) CHy —C ==CH

o Watch Video Solution

10. How many compound are stable after deprotonation ?

é NYANEEEEY & Y
W 00

° Watch Video Solution



https://dl.doubtnut.com/l/_qHy10R6urI4W
https://dl.doubtnut.com/l/_swkYjdmoHYQU

11. Sum of types of functional group and DBE value for given compound is

X so the value of X is :

0
(il "u.,“" L

]
(M1

NI

° Watch Video Solution

12. P = Number of anti-aromatic compound, so the value of x is :

DDE((S"_JLL&

Q = Total number of resonating structures of carbonate ion [C’O%‘}

R = Number of  a-hydrogen in given carbocation


https://dl.doubtnut.com/l/_cY2So9mmjJye
https://dl.doubtnut.com/l/_44wI14Rdpgak

S

Total number of geometrical isomers
CHs;-CH =CH — CH = CH,

T = Number of compound more acidic then CH3CH20OH

OH Ol
@ . @ CHLCOOH |, CH,504.H
NO,

Sum of (P+Q+R+S+T) - 15 is :

of

° Watch Video Solution



https://dl.doubtnut.com/l/_44wI14Rdpgak

13. X = number of(+M) group attached with phenyl ring, so the value of x

is.

o Watch Video Solution



https://dl.doubtnut.com/l/_oQXq2n5jxdkP

